C:h Using Pythagorean Theorem

Name:

Find thevalue of 'C' round your answer to the nearest hundredth.
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6/ ¢ Zbe
2
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C
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1
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1
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Using Pythagorean Theorem Name:. Answer Key
Find thevalue of 'C' round your answer to the nearest hundredth. Answers
1) 2) 3)
c 1 6.32
C
6 6 6 2 6.32
10
S . 1166
36+4=40 4+36=40 36 + 100 = 136 4 12.04
V40 =6.32 V40 =6.32 V136 = 11.66
5, 3.61
4) 5) 6)
6. 12.73
C 3 C
8 ¢ . 316
9
9 2 8. 10.05
9
64 + 81 = 145 9+4=13 81 + 81 = 162 9. 8.54
V145 = 12.04 V13=3.61 V162 =12.73
10, 8.06
7) 8) 9)
c . - n 1414
3 10 3 12. 7.62
1
1+9=10 100+ 1=101 9+64=73
V10=3.16 V101 = 10.05 V73=8.54
10) 11) 12)
7 c C C
1 7
4 10 3
49+ 16 =65 100 + 100 = 200 49+ 9=58
V65 = 8.06 V200 =14.14 V58 = 7.62
1-10 | 92|83 75|67 [58[50] 4233|2517 |
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Using Pythagorean Theorem Name:
Find thevalue of 'C' round your answer to the nearest hundredth. Answers
1) 2) 3)
1.
C
3 2,
1 7
3.
5
2
4.
5.
4) 5) 6)
1 C 6.
C C S
7.
5 7
6 ° 8.
9.
10.
7) 8) 9)
11.
° N 4 ¢ 12
C .
8 9
2
1
10) 11) 12)
C C
C
2
5
1 1 6
1-10 | 92|83 75|67 [58[50] 4233|2517 |
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Using Pythagorean Theorem Name:. Answer Key
Find thevalue of 'C' round your answer to the nearest hundredth. Answers
1) 2) 3)
c 1 10.2
4 C
C 2 9.85
9
1 7
3. 9.9
5
2
100 + 4 = 104 16 + 81 =97 49 + 49 = 98 4 7.81
V104 = 10.2 V97 =9.85 V98=9.9
5, 114
4) 5) 6)
C C
S ; 10
5 7
6 9 s 447
25 + 36 = 61 49 + 81 = 130 1+25=26 9. 9.06
V61=7.81 V130=11.4 V26=5.1
10, 5.1
7 8 9
) ) ) w224
C
6 4/ \© 10
& \
8 9
2
1
36+ 64 =100 16+4=20 81+1=82
V100 =10 V20 = 4.47 V82 =9.06
10) 11) 12)
C C
c 2
8
5
1 1 6
25+1=26 4+1=5 64 + 36 =100
V26=5.1 V5=2.24 V100 =10
1-10 | 92|83 75|67 [58[50] 4233|2517 |
[ Math ] www.CommonCoreSheets.com 2 11-121 8 | 0




C:h Using Pythagorean Theorem

Name:
Find thevalue of 'C' round your answer to the nearest hundredth. Answers
1) 2) 3)
1.
g ¢ C = 2
7
3
3.
4.
5.
4) 5) 6)
6.
6
7 i i C c C
7.
3 5
9.
10.
7) 8) 9)
C 11.
C 6 c 1% 12.
4
3 5
10) 11) 12)
N
C C
10 5
1-10 | 92|83 75|67 [58[50] 4233|2517 |
[ Math ] www.CommonCoreSheets.com 3 11-121 8 | 0
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Using Pythagorean Theorem Name:. Answer Key
Find thevalue of 'C' round your answer to the nearest hundredth. Answers
1) 2) 3)
1 10.63
c c c . 316
8 7
3
3. 7.28
64 + 49 =113 9+1=10 49+4=53 4. 10.63
V113 =10.63 V10=3.16 V53=7.28
5, 6.71
4) 5) 6)
6. 7.07
6
C C
A C L
- 3 S 8 7.81
5
49 + 64 = 113 36+9=45 25 + 25 =50 9. 6.08
V113 =10.63 V45=6.71 V50 = 7.07
10, 13.45
7 8 9
) ) ) c n 1118
C 6 C 1% " 3.16
4
3 5
16+9=25 36+25=61 1+36=37
V25=5 V61 =7.81 V37 =6.08
10) 11) 12)
N
C C
9 10 3
10 5
81+ 100=181 100+ 25=125 1+9=10
V181 =13.45 V125=11.18 V10=3.16
1-10 | 92|83 75|67 [58[50] 4233|2517 |
[ Math ] www.CommonCoreSheets.com 3 11112181 0




C:h Using Pythagorean Theorem Name:

Find thevalue of 'C' round your answer to the nearest hundredth. Answers
1) 2) 3)
C 1.
— C
8 C [ 2.
9
3 3
2
4,
5.
4) 5) 6)
C c 6
° &
15— 7
C 9 7
5 8.
2
9.
10.
7) 8) 9
C 11
C 10 12,
9
8
10) 11) 12)
C
C ° c
6
4

1-10 | 92|83 75|67 [58[50] 4233|2517 |
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Using Pythagorean Theorem Name:. Answer Key
Find thevalue of 'C' round your answer to the nearest hundredth. Answers
1) 2) 3)
C 1 8.25
2, — C
8 c ! 2 9.2
9
3 s 162
2
4+64=68 81+4=85 49 +9=758 4. 5.39
V68 = 8.25 V85=9.22 V58 = 7.62
5, 7.07
4) 5) 6)
C c 6. 949
° &
1 — 7
C 9 7. 12.04
5 8. 10.82
2
25+ 4 =29 1+49=50 9+81=90 9. 10.2
V29=5.39 V50 = 7.07 V90 =9.49
10, 6.4
7 8 9
) ) ) c u 894
9 6 C obh —
c 10 . 7181
9
8
81+64=145 36+81=117 4+100=104
V145 = 12.04 V117 = 10.82 V104 = 10.2
10) 11) 12)
C
C S c
6
4
25+16=41 16 +64 =80 25+36=61
V41=6.4 V80 =8.94 V61=17.81
1-10 | 92|83 75|67 [58[50] 4233|2517 |
[ Math ] www.CommonCoreSheets.com 4 11-121 8 | 0
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Using Pythagorean Theorem

Find thevalue of 'C' round your answer to the nearest hundredth.
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Using Pythagorean Theorem Name:. Answer Key
Find thevalue of 'C' round your answer to the nearest hundredth. Answers
1) 2) 3)
1 12.04
5
C C
c 2 10.2
8
1 6
9 3 7.81
2
64 + 81 = 145 100 + 4 = 104 25+ 36 =61 4 13.45
V145 =12.04 V104 = 10.2 V61 =7.81
5, 8.6
4) 5) 6)
6. 8.06
C
10 7 4
c c & 2. 1005
7
9 5 8. 11.66
100 + 81 = 181 49 +25=74 16 + 49 = 65 9. 6.71
V181 =13.45 V74=8.6 V65 = 8.06
10, 8.54
7 8 9
) ) ) u 361
3 C
C C 12. 7.21
10 6
1
1 6
100+ 1=101 100 + 36 =136 9+36=45
V101 = 10.05 V136 = 11.66 V45=6.71
10) 11) 12)
3
= 6
C C
8
3
4
2
9+64=73 9+4=13 36+16=52
V73=8.54 V13=3.61 V52=7.21
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C:h Using Pythagorean Theorem

Name:

Find thevalue of 'C' round your answer to the nearest hundredth.

1) 2) 3)
7/ |c
C C
10 8
3
= 9
4) 5) 6)
6/|° 9 C c
7
2 10
4
7) 8) 9)
6
< C 10//€
5
10
6 2
10) 11) 12)
c 8
° C 4> C
10
2 10

Answers

10.

11.
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ﬂh Using Pythagorean Theorem Name:. Answer Key

Find thevalue of 'C' round your answer to the nearest hundredth. Answers
1) 2) 3)
1 7.62
7/ |c
C C
0 8 Zl 2 _ 1118
3
5 s 12,04
5
49+9="58 100 + 25 =125 64 + 81 = 145 4 6.32
V58 =7.62 V125 =11.18 V145 =12.04
5, 13.45
4) 5) 6)
6. 8.06
C C
6 9 C 7. 11.66
7
5 ) 8. 7.81
4
36+4=40 81 + 100 = 181 49 + 16 = 65 9. 10.2
V40 =6.32 V181 = 13.45 V65 = 8.06
10, 7.81
7 8 9
) ) ) 11. 10.77
6
C C C
. y 2 1281
10
6 2
36+ 100 =136 25+36=61 100+4=104
V136 = 11.66 V61 =7.81 V104 = 10.2
10) 11) 12)
c 8
6 C 4> C
10
2 10
36+25=61 16 + 100 =116 64 +100=164
V61 =7.81 V116 = 10.77 V164 = 12.81
1-10 | 92|83 75|67 [58[50] 4233|2517 |
[ Math ] www.CommonCoreSheets.com 6 11-121 8 | 0




C:h Using Pythagorean Theorem Name:

Find thevalue of 'C' round your answer to the nearest hundredth. Answers
1) 2) 3)
c 1.
1 8
9 3.
5 7
4,
5.
4) 5) 6)
2 5 6.
C C
C
5 7.
6 10
8.
3
9.
10.
7) 8) 9
11.
C C
c 2&
A 12.
1 9 4
1
10) . 11) 12)
C
C
4 C
> 6
6

1-10 | 92|83 75|67 [58[50] 4233|2517 |
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Using Pythagorean Theorem Name:. Answer Key
Find thevalue of 'C' round your answer to the nearest hundredth. Answers
1) 3)
1 10.3
C
C C 4 2 12.21
1 8
9 3. 8.94
5 7
81+ 25=106 100 + 49 = 149 16 + 64 = 80 4. 5.39
V106 = 10.3 V149 =12.21 V80 =8.94
5, 6.71
4) 6)
) 5 e, 1118
c C
5 C S . 141
6
8. 10.3
3
4+25=29 36+9=45 25+ 100 =125 9. 4.47
V29=5.39 V45=6.71 V125=11.18
10, 4.12
7 9
) ) uw 781
C
C - 2
12, 6.32
1 ° 9 4
1
1+1=2 25+ 81 =106 4+16=20
V2=141 V106 = 10.3 V20 = 4.47
10 12
) 1 )
C
C
4 C
> 6
6
2
1+16=17 25+36=61 36+4=40
V17 =4.12 V61=17.81 V40=16.32
1-10 | 92|83 75|67 [58[50] 4233|2517 |
[ Math ] www.CommonCoreSheets.com 7 11-121 8 | 0
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Using Pythagorean Theorem Name:

Find thevalue of 'C' round your answer to the nearest hundredth.

1)
C
2>
5
4)
9 C
4
7)
C
7
4
10)
C
10
1

2) 3)
C
5 C
M
4
5) 6)
C
C
4
10
8) 9
C C
9 8
10 5
11) 12)
C
C 3 &
7
9
-
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ﬂh Using Pythagorean Theorem Name:. Answer Key

Find thevalue of 'C' round your answer to the nearest hundredth. Answers
1) 2) 3)
c . . 539
2>5 5/ \C » 671
3 6
6.4
) 3.
4+25=29 9+36=45 25+ 16 =41 4 9.85
V29 =5.39 V45 =6.71 V41=6.4
5. 12.81
4) 5) 6)
6. 4.47
C
9/ |C C
8 2 7 8.06
4
4 10 8. 13.45
81+ 16 = 97 64 + 100 = 164 4+16=20 9. 10.63
V97 =9.85 V164 =12.81 V20 = 4.47
10, 10.05
7 8 9
) ) ) w114
C
C C 1. 7.62
! 9 8
10
4 7
49+ 16=65 81+ 100=181 64 + 49 = 113
V65 = 8.06 V181 = 13.45 V113 =10.63
10) 11) 12)
C
¢ 3 b
C
10 =
9
1 7
100+ 1 =101 81+49=130 9+49=58
V101 = 10.05 V130=114 V58 = 7.62

o
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Using Pythagorean Theorem Name:
Find thevalue of 'C' round your answer to the nearest hundredth. Answers
1) 3)
1.
C
% —— 3
4& A ) i
6
2 3.
4.
5.
4) 6)
6.
C % C
1 8 7.
4
5
1 8.
9.
10.
7) 9)
11.
- T C
7 12.
2 3 4
4
10) 12)
C
C
5 2o 1
2
1-10 | 92|83 75|67 [58[50] 4233|2517 |
[ Math ] www.CommonCoreSheets.com 9 11-121 8 | 0
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Using Pythagorean Theorem Name:. Answer Key
Find thevalue of 'C' round your answer to the nearest hundredth. Answers
1) 2) 3)
C 1 7.21
C
‘ v 3/ \c
& 1 4 5 4.12
6
> s 361
16 + 36 = 52 1+16=17 9+4=13 4 6.4
V52=7.21 V17 =4.12 V13 =3.61
5, 8.06
4) 5) 6)
C 6. 8.06
C % C
1 8 7. 3.61
4
5 .
: S
16+ 25=41 1+64=65 64+1=65 9. 5.66
V41=6.4 V65 = 8.06 V65 = 8.06
10, 5.39
7 8 9
) ) . ) w1118
7 = 1044
M 4
4
4+9=13 4+49=53 16+16=32
V13=3.61 V53=17.28 V32 =5.66
10) 11) 12)
C
C ; ——
5 C
10 3 10
2 5
25+4=29 100+ 25=125 9+ 100 =109
V29 =5.39 V125=11.18 V109 = 10.44
1-10 | 92|83 75|67 [58[50] 4233|2517 |
[ Math ] www.CommonCoreSheets.com 9 11-121 8 | 0




C:h Using Pythagorean Theorem Name:

Find thevalue of 'C' round your answer to the nearest hundredth. Answers
1) 2) 3)

C

9
W

o
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o
(@)
w N =

4.
5,
4) 5) C 6)
C . 6.
° & 10 9 C
8 7.
10 8
9.
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7) 8) 9)

11.

12.
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Using Pythagorean Theorem Name:. Answer Key
Find thevalue of 'C' round your answer to the nearest hundredth. Answers
1) 2) 3)
1 10.82
C 7
C
9 = 2 7.21
N
3. 9.22
5 6
81 +36=117 16 + 36 = 52 49+ 36 =85 4 8.54
V117 = 10.82 V52=7.21 V85=9.22
5, 10.05
4) 5) 6)
C c 6. 13.45
° & T 9 C
5 7 566
9+64=73 1+ 100 = 101 81+ 100 =181 9. 3.16
V73=8.54 V101 = 10.05 V181 = 13.45
10, 8.6
7 8 9
) ) ) w922
. C C C 12. 4.12
8 3
4 4 1
16 +16=32 64 +16=80 9+1=10
V32 =5.66 V80 =8.94 V10=3.16
10) 11) 12)
5 C
9 C
C
7 4
2
1
25+49=74 81+4=85 16+1=17
V74=8.6 V85=9.22 V17 =4.12
1-10 | 92|83 75|67 [58[50] 4233|2517 |
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